o|J
BN

@3x—|—5x=—2+1

@ 3x-5x=-2+1

@ 3x+5x=-2-1

® 3x-5x=-2-1

® 3x+5x=2-1

3x=1=-5x-2

3x+5x=-2+1




6x—5=-x+4

6x+x=4+0

3®)5 @ 4

@ -4

6x—5=-x+4

6x+x=4-+5




@x—l—l:l @ x=x-2
(@)2(x—1):2—2x @ 2x—3:}1(8x+12)

® x(x+1)=-2x+1

(xof| TSt
1

#4]) = 0 ©] Zolojof smz
x+1= 2

(x-1) =2~ 20 & LA oIk,

Qo]
=
kUt




it

v V. v Vv
02
L
Q@

0
it
®

@ 4x-8=0: AAFHL oI,
B2 Axpgg o] ohic,
[e)

Y
© ¥ -3 = 2x  F|A49] HmAHGo] Y7} opriet,




e A S a4l A2
® 3x+6-3x @ x*+1=-x
® 2x-1=3(x-1)-x (‘D)x—l—xE—i-?)zx2

xX+x+1=x
® 241

B

@6
@DxP+x+1=0
®2=0
@x+3=0
®@x2+1=0




@ 23+x)-2x=0 @ 3x-4=4+3x
@x2—2x+1:x2+x—1 @ 3 =2+ 2x>

® -x+3=-x+5

@x-2x+1=x2+x-1->-2x+1=x-1(LAFAA])




3x+5x——1—D
Df:D

@ -7,8,-8,-1 ®

3)7,8,-8,~1

&8

3x+7=-5x-1
3x+5x=-1-7
8x = -8

Lx=-1

kA Jigke] oz 4=

E 2}tz 2 H 7,8, -8, -1 o]t}




® x=1

@ x=-1

® x=3

8—x

bx—4x+4=

2x

=4
Lx=2




9.

ok WA FolA d7k e shik?

® 2x+4=0 @5—2x:2x—4
® 3x=x-4 @ 2(x-2)=x-6

® 3(x-2)=5x-2

B

D2x+4=0
2x = -4
Sox==2
@5-2x=2x-4
—2x—-2x=-4-5

—4x=-9

9
T
®3x=x-4
3x—x=-4
2x = -4
x=-2
@2(x-2)=x-6
2x—4=x-6
2x—x=-6+14
x=-2
®3(x-2)=5x-2
3x—6=5x-2
3x—5x=-2+4+6
-2x=4




® 2




—

X =

6x—4+3=4x-6




B
2l
%
JZ;O
Ho
ol 77

op &
T e

..._“_..u
KO

A

..._“_..u
RO

._._“_..u
RO

._.r__..u
RO

2x—4=x

=4

2x—x

4

X =




A
s
ol
ﬂ.AlO
HO
ol

iy
o

3>:4><%x

73

1
2
2

2x

e
A
1
4><<
x—6=2x
x—2x=206

1

4




Rl™

=1

-

ul
RO

3x—6=2x

3x—2x=6,x=6 °|t}.




Lo g2 25
9 ke Pt 9




16. 344 gx— g =0.7(x-2) o = FshH?
@_1 @ -2 ® -3 @ -4

® —=

¥ 10 & FotH
15x -6 = 7(x - 2)
15x -6 =Tx—14
8x = -8

Lx=-1







18.

2t+1

[
| —

>
> ®™Met: r=4

[=3 — B

= 1.251 -2 2 Zojg}.

= 1.25¢—2
3
2t+1 5
=—-t—2
3 4

42t +1) =15r—24
8t+4 =15t - 24
4424 =15t 8¢
Tt =28

Lt=4




19. @by 2oL 2D o ol grg ool

FHo ERo HAFHia 102 HSHH

5(3x — 1) = 4(1 - x) + 10 °]t}.

Z7N5HH 15x -5 =4 —4x+ 10

x 2 ZAT e HHo g ALFFO QO R o]
15x+4x=4+10+5

19x =19

o2bA] x =1 o]t}

2
oli
=
=)




20.

y
02)6———12<)c—4—1
> =

7
[>€“I::I'|- x:%

o o] B o] M ATH|S: 60 2 Zote] AsHH
12x — 40 = 72x — 54

»E B FL o R 5L SO olFsiH
12x - 72x = 40 - 54

—60x = -14

7
med v = o




